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Q:-1. A and B can complete a piece of work in 15
days and 10 days respectively. They got a contract to
complete the work for 35000. The share of A (in ) in

the contracted money will be:

| A 3T B Ueh T ohl SHATT: 15 1o 31X 10 fET § QU s

| TR 21 378 35000 T HTH UM KT KT SehT THAT| 3ok hl
TR A’ T T&EET B0:
(a) 7000
(b) 21000
(c) 14000
(d) 28000
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Q:-2. A dealer buys an article marked at Rs 20000 with two
successive discounts of 20% and 5%. He spends 1000 for its repair
and sells it for 20000. What is his profit /loss percent (correct to two

decimal places)?

T S 20% 3R 5% Y SHiTH T & AT 20000 TIX F 3ifeha Toa

| ™R Uk 9% TEAT 8| 9E $HehT WOHA o Te1T 1000 T ohiaT § 3T 39
20000 T SIEAT g1 IHRT ATH/ETH TTATd (ST SIWHAS TUT dh Tl
FIT 8?2

(a) 25.64% loss

(b) 25.64% profit

(¢) 23.46% profit

(d) 23.46% loss




Q:-2. A dealer buys an article marked at Rs 20000 with two
successive discounts of 20% and 5%. He spends 1000 for its repair
and sells it for 20000. What is his profit /loss percent (correct to two

decimal places)?

T S 20% 3R 5% Y SHiTH T & AT 20000 TIX F 3ifeha Toa
| ™R Uk 9% TEAT 8| 9E $HehT WOHA o Te1T 1000 T ohiaT § 3T 39
20000 T SIEAT g1 IHRT ATH/ETH TTATd (ST SIWHAS TUT dh Tl
AT 82

(a) 25.64% loss

(b) 25.64% profit

(d) 23.46% loss



Q:-3. A person purchased a vehicle for 489828 and
sold it for 589828. What is the profit percent he

earned on this vehicle (correct to two decimal

places)?

Ueh SATTh  Ueh ATa i 489828 H TWHIET 1R 39

| 589828 & 3= faam| T\ T aTE W IR wT wiv
FIT g (T SIMHAT TATAT ek T&T)?
- (a) 25%
(b) 15%
(c) 18.65%
(d) 20.42%
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Q:-3. A person purchased a vehicle for 489828 and
sold it for 589828. What is the profit percent he

earned on this vehicle (correct to two decimal

places)?

Ueh SATTh  Ueh ATa i 489828 H TWHIET 1R 39
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T Z (ST TIMHAST T deh TET)?
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Q:4. If (x -8)* + (2x+16)* + (2x-13)* = 3(x — 8) (2x+16) (2x-13),
then what is the value of x?
DI (x -8)* + (2x+16)* + (2x-13)* = 3(x — 8) (2x+16) (2x-13), ar x
T O T &2

(a) 1

- (b) -1

(©) 0
L (d) 0.7
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Q:-5. If an 8-digit number 30x558y2 is divisible by 88, then the
value of (6x + 6y) is:
I Ueh 8-37<h 1 H&AT 30x558y2 88 | farwT= &, AT (6x
| +6y) T A T:
1 () 30




Q:-5. If an 8-digit number 30x558y2 is divisible by 88, then the
value of (6x + 6y) is:
I Ueh 8-37<h 1 H&AT 30x558y2 88 | farwT= &, AT (6x
| +6y) &HT A B:
i (a) 30
- (b) 35

(d) 66




Q:-6. If each side of a rectangle is increased by 22%, then its area will increase by:
At U T hY TeAh AT H 22% hY g Y AT 7, A 3k Qrher § oY Jhg 2RfY 2
(a) 48.84%

- (b) 50%

- (¢) 44%

(d) 46.65%

|




Q:-6. If each side of a rectangle is increased by 22%, then its area will increase by:
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Q:-7. In a AABC, the bisectors of <B and <C meet at O with in the triangle. If <A
= 110°, then the measure of <BOC is

T AABC  <B 3R <C & TfgaTTeh et & 0 W et §1 afg <A = 1100, @
| <BOC HTHATT B
- (a) 110°

(b) 55°

(c) 145°

(d) 84°
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Q:-8. In triangle ABC, the length of BC is less than twice the length of AB by 3
cm. The length of the AC exceeds the length of AB by 9 cm. The perimeter of the

triangle is 34 cm. The length (in cm) of the smaller side of the triangle is

| TSt ABC H, BC &l @(@Tg, AB hl @aTE o S | 3 §HT oW g1 AC I (aTS AB
‘ ﬁmﬁﬁ9ﬁﬁaﬁm%lﬁwww&wm34ﬁﬁr EGEEIRICR SUC IR CIE

| @ )3
(a) 10
(b) 7
Ok
d) 8
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Q:-8. In triangle ABC, the length of BC is less than twice the length of AB by 3
cm. The length of the AC exceeds the length of AB by 9 cm. The perimeter of the

triangle is 34 cm. The length (in cm) of the smaller side of the triangle is

| TSt ABC H, BC &l @(@Tg, AB hl @aTE o S | 3 §HT oW g1 AC I (aTS AB
‘#ﬁ?ﬁﬁﬁ%@f9iﬁﬁ*ﬂﬁ?ﬁf%rﬁTﬂGraﬂtﬁhmﬂr34iﬁﬁ‘ﬁ?ﬂGréﬁiﬁEﬁ?$ﬁTéﬁiﬁaﬁ§

| @3
(a) 10

©) 9
d) 8
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Q:-9. The ratio between the speeds of two trains is 2: 5. If the first train covers 350

km in 5 hours, then the speed (in km/h) of the second train is:
&1 ¢ AT TTTd ok STl BT SATUTA 2:5 81 Al TEeAT ¢ 5 6 | 350 Tehtit <hl it a7 hid 2,
| ?Ibfac\ﬂ'ﬁ‘a'—riﬁ“'lﬁ (ferti/ereT W) B:
(2)180 km/h
L (b)175 km/h
(¢)165 km/h
L (d)150 km/h
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Q:-9. The ratio between the speeds of two trains is 2: 5. If the first train covers 350

km in 5 hours, then the speed (in km/h) of the second train is:

2t AT sht Tfer 3 sffer ST AU 2:5 71 A4S ugelt ¢ 5 €e § 350 forrft ot g A et
| vt i o (Rl ) B
(2)180 km/h
|

(¢)165 km/h
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Q:-10. The sum of salaries of A and B is ¥43000. A spends 95% of his salary and B

spends 80% of his salary. If their savings are the same, what is A's salary (in )?

A 3T B o I ST ARTT 43000 T A 379 Sd T 95% 3T B 79 I AT 80% T
| YT g1 AT ITehT IO THTE &, AT A T I () T 82
| (a) 8000

(b) 34400
| (¢) 10600

(d) 35000
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Q:-10. The sum of salaries of A and B is ¥43000. A spends 95% of his salary and B

spends 80% of his salary. If their savings are the same, what is A's salary (in )?
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Q:-11. There are two circles of radius S cm and 3 cm respectively. The distance

between their centres is 10 cm. The length (in cm) of a transverse common tangent

1S.
forsar aTer 3t SR 5 At 3R 3 AT §1 37k chal o sfter bt gt 10 AT 81 T
HTTE IHATTY TAYNET I TS (FHY H) &:

| @9
(b) 8

L (©) 10
(d) 6
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Q:-11. There are two circles of radius S cm and 3 cm respectively. The distance

between their centres is 10 cm. The length (in cm) of a transverse common tangent

1S.
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Q:-12. Two numbers are in the ratio 3: 4. On increasing each of them by 30, the ratio

becomes 9:10. The sum of the numbers is:

Y HEATY 3:4 o STHUT | & ITH & Tedeh Y 30 T U STTUTT 9:10 B ST 71 HEamen
T I &:
(a) 35

L ()30
(c) 32
L (d) 25




Q:-12. Two numbers are in the ratio 3: 4. On increasing each of them by 30, the ratio

becomes 9:10. The sum of the numbers is:

Y HEATY 3:4 o STHUT | & ITH & Tedeh Y 30 T U STTUTT 9:10 B ST 71 HEamen
HTAN E:

L (b)30
(c) 32
L (d) 25




Q:-13. Two students, A and B, appeared for an examination. A secured 8 marks
more than B and the marks of the former was 55% of the sum of their marks. The

sum of the marks obtained by A and B is:

| 5181, A 3R B, Tk udien o fore sufterd gl A ¥ B & 8 aiek arferen wrw R AR e &
| 37 3T 37T % AT HT 55% A1 A TR B SRT UTH 3ieht T TNT 2

(a) 75
(b) 100
(c) 90
(d) 80







